BEF /KR 2B (REB—FAVH)

[ BFS5UF ] e — [ CH5UFK ]
1f0 10 3lo
21|00 0 O 63|11
10 0 1 1 3
L o0 0 U 2‘ L‘so 1 2 .4
AT Cc2 D2 B1 D1 B2 A2 Ci
5 15 3] A A 5 5
- H &8 it F 1 Ju —
2 1
I ;00 4 201 2
10 4 PK 3
| |
5+64i tEEI 5.6z BEF
HIEXEL—FIE .
Bl EARIE=RPR [CT5F]
#Ey  EAWIAFRFR SR TEEL
3L FHEMIE—FFER |
AL FHEFIAFIPER ;01
5+ 64z LT HETILIERA P ER 1 1
561 FTHRHTIERPER 4PK5S
7-8{ EEAT-EFATH A I IKEAERTER P
7-8{i FEMIEEGER 4,




BFEFPMKREER F1BEB (FEIAVD)—T )

AJOwvY ‘ BJOwvY cJowvs DJOv%
HYZFIN—IBT SR Y ZFIN—DCHT SR
(%=) CED [&F) ‘/HE’\ [4F]
(%] [ZEm]| |[(EZ@] [£H] [%—] CERIGED) (L)
1st 2nd  TOTAL 1st 2nd  TOTAL
[E=)][2 — 0]4 — o]6 — o] [EEK]] [AF)[1 — oJo—1]1 — 1] [FER] ]
[#dt] [0 — o3 — 0|3 — o] [EA] [£=])]0 — 2]0o—-0]0 — 2] [E—]
[E/") [0 — oJ]o — 1[0 — 1] [Em] | (&) [0 — 1][2—-0]2 — 1| [EER] |
[ZF]) |9 — o6 — 0|15 — 0] [EF] [E—)[2 — 2|1 —-0]3 — 2| [1EH]
[£E=)[2 — 0o]7 — o9 — o] [Em] | [AF)[2 — o]1—-0]3 — of [EER] |
[#dt] |9 — of10 — o|19 — o] [EF] [£=)[0 — o]lo—2]0 — 2| [1EME]
[EAE) |0 — 1|1 — 2|1 — 3| [ER]
141 : TR 141 : HFIL P FER 140 : F— R 141 : AFHER

24 : F U 24 : FRH PR 24 : IS AP 24 : A Ef AR




	２日目結果
	１日目結果

